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1. £ (AXRLLEHA, 15 %) A liquid reactant stream (1mol/liter) passes
through two mixed flow reactors in a series. The concentration of A in the exit of the
first reactor is 0.5Smol/liter. Find the concentration in the exit stream of the second

reactor. The reaction is second-order with respect to A and V,/V1=2.

2. (10 %) ¥A NaOH &E#&EIL CO,, NaOH &K EH 0.5kmol/m’®, @ L
CO, RE S 0.001kmol/m’, &AM F 54 k=10 * m/s, Rk FFEHK k,=10" m’/
(kmoles ), DA =1.8x10"° m%/s, Dgr/ Dar=1.7, BBk %,

3. (154) EFRERA AFFTAEMBARN, ERFFH THATHAR, T4 B
FREFHANG—F, AFGERLEESFA RusF Rexs H (1) Rpx=1.5Ry .
(2)Rpx=2Ra z~ (3) Rpx=Ra z B, RIE-FRA A BALMEAH] B 69 Thiele 4L @a-
ep XM XA RXNAA AT HAKE T (a0 XX AKX,
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1. (105 ) & FPATRAL:
A+B—>L
A+B>M

A L ABWEH, R FFRSAD: r,, =ke "M,
Y :kozeizzooo/RTcAcé’ HiE L W BFERER, wRAERREEBZPIHIT, TH
AP IRAE 5 XRIF? At A2

Add Aand B \ Add A and B \ Start with A, \

all at one time slowly; level rises add B slowly
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2, (10 ) I FARTHE—REERM 44 51 L sy F£F L AB K4,
STFFRREBZRBELX, FHLELEFQRS, FHAEY.
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3. (10 %) A RARBAM T R T4
BaCl, + Na,SO, —> BaSO, 4 +2NaCl
A — AR GINIRB L, AT FRKFH A QARBRPUTIR B, LR MRS,
THARGE RS BB B a6 RIS AT XA L H ) AT

9. faj& 8 (10 43, fEiE 2 B, |54
1. MRT kA FHE - REEBEHER.
2. R ERARFRARER B L, HoR5 88 R E6.
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